
Part number
L101EAN000

Date
02-12-2020

Index
00

Page
1

Part number:

L101EAN000

Part name:

Fixed towbar

D-Value: 10,79 kN Model:

Max. vertical weight: 90 kg Subaru Outback MY21-

Genuine Accessories

Installation Instructions



GB

Part number
L101EAN000

Date
02-12-2020

Index
00

Page
2

NL

E

D

F

S

I

Read this mounting manual carefully,before you start the installation.
Warranty is granted only when installation is done correctly by your SUBARU dealer. 
SUBARU reserves the right to change the design of accessories and /or construction, illustration, and text of this manual at 
anytime without prior notice.

Lesen Sie diese Anleitung vor der Montage aufmerksam durch.
Es wird nur Garantie gewährt, wenn die Installierung von einem anerkannten SUBARU-Händler richtig ausgeführt wird.
SUBARU behält sich das Recht auf Veränderung des Designs und der Konstruktion der Zubehörartikel sowie der Illustrationen 
und Texte dieser Anleitung jederzeit und ohne Vorankündigung vor.

Lire attentivement ces instructions de montage avant de procéder à l'installation. 
La garantie estvalable que si l'installation est réalisée correctement par un concessionnaire agrée SUBARU. 
Subaru se réserve le droit de changer la conception d’accessoires et/ou la construction, l’illustrationet le contenu de ce manuelle 
a tout moment sans avis precedent.

Lees deze montage handleiding zorgvulding door, alvorens U tot installatie overgaat.
Garantie wordt alleen verleend indien de installatie correct is uitgevoerd door een erkende SUBARU dealer.
Subaru behoudt zich het recht voor om het ontwerp van de accessoires alsook de constructie, illustratieen tekst in deze
handleiding ten allen tijde te wijzigen.

Léanse cuidadosamente estas instrucciones de montaje, antes de proceder al la instalacion.
Unicamente se da garantia si la instalacion ja sido correctamente realizada por un concesionario oficial SUBARU.
Subaru se reserva el derecho de cambiar el diseño de accesorios y o construcción, la ilustración y el texto de este manual en 
cualquier momento sin previo aviso.

Läs noga igenom denna monteringsanvisning innan installationen påbörjas.
Garanti ges endast om installationen har utförts korrekt av en auktoriserad SUBARU-försäijare.
SUBARU förbehåller sig rätten att ändra utformningen av tillbehör och / eller konstruktion, illustrationoch text i denna handbok
när som helst utan före-gående information.

Leggere attentamente queste istruzioni per il montaggio prima di iniziare l'installazione.
La garanzia è valida solo se l'installazione viene correttamente eseguita da un rivenditore autorizzato Subaru.
Subaru si riserva il diritto di modificare il design e / o la fabbricazione di accessori, le illustrazionie il contenuto di questo manuale
in qualsiasi momento e senza preavviso.

Installation Instuction for: Towbar

Anbauanleitung für: Anhängevorrichtung

Instructions de montage pour: Crochet d‘ attelage

Inbouwhandleiding voor: Trekhaak

Instrucciones de montaje para: Gancho de remolque

Montageanvisning for: Dragkrok

Istruzione per il montaggio per: Gancio di traino

NL

E

GB

D

F

S

I

GREASE

B
R

A
K

E
C

LE
A

N
E

R

Part number:

L101EAN000

Model name:

Model year:

Body type:

Towing capacity:

Type:

Towbar ECE approval no.:

Vehicle homologation number:

Vehicle type:

Subaru Outback

2021-

Station wagon

2.000 kg

348 082

E13 55 R–01 4717

e13*2018/858*00010

B7



Part number
L101EAN000

Date
02-12-2020

Index
00

Page
3

Part number:

L101EAN000

N

N
O

B

H

H

H

J

J
D

M

K

L

C

H

H

J

J

E

14x   M12x40 (10.9)

6x   12x37x3

2x     M4x16

2x     M4

H

J

K

L

SM 2x   M14x75 (10.9)

4x   14x28x2,5

2x   M14

N

O

1x

P 1x

DEEP
10 217 14 142216



Part number
L101EAN000

Date
02-12-2020

Index
00

Page
4

Part number:

L101EAN000

1

2

1.

2.

2.

 13



Part number
L101EAN000

Date
02-12-2020

Index
00

Page
5

Part number:

L101EAN000

3

4

DEEP

2x

1x

 4

2x

1x

2.



Part number
L101EAN000

Date
02-12-2020

Index
00

Page
6

Part number:

L101EAN000

5

6

DEEP

14

1x

2x

 18



Part number
L101EAN000

Date
02-12-2020

Index
00

Page
7

Part number:

L101EAN000

7

8

C



Part number
L101EAN000

Date
02-12-2020

Index
00

Page
8

Part number:

L101EAN000

C

A

> 1 mm < 1 mm

H/J
M12x40/12x37x3

H/J
M12x40/12x37x3

H/J
M12x40/12x37x3

9

10



Part number
L101EAN000

Date
02-12-2020

Index
00

Page
9

Part number:

L101EAN000

7

> 1 mm < 1 mm

> 1 mm < 1 mm

K
M4x16

L
M4

2x H
M12x40

H
M12x40

H
M12x40

M12x40

H
M12x40

H
M12x40

11

12



Part number
L101EAN000

Date
02-12-2020

Index
00

Page
10

Part number:

L101EAN000

13

14

1. 2.

21 22

N

N
O

B

M



Part number
L101EAN000

Date
02-12-2020

Index
00

Page
11

Part number:

L101EAN000

15

C

D

1.

2.

3.

4.

5.

6.

7.

8.

9.

10.

11.

12.

13.

14.

1.

9.7.

10.

2.

8.

3. 5.

12.

13.

4.
6.

11.
14.

16



Part number
L101EAN000

Date
02-12-2020

Index
00

Page
12

Part number:

L101EAN000

1.

2.

3.

4.

16



Part number
L101EAN000

Date
02-12-2020

Index
00

Page
13

Part number:

L101EAN000

17

18

DEEP

14

1x

2x



Part number
L101EAN000

Date
02-12-2020

Index
00

Page
14

Part number:

L101EAN000

16

17

1.

2.



Part number
L101EAN000

Date
02-12-2020

Index
00

Page
15

Part number:

L101EAN000

2,
45

 m
 v

ed
er

e 
C

A
R

T
A

 d
i C

IR
C

O
LA

Z
IO

N
E

 V
E

IC
O

LO
 (

m
ot

ric
e)

+
 7

0 
cm

 =
 a

rr
ot

on
da

re
 a

i 5
 c

m
 s

up
er

io
re

 (
ve

di
 D

.M
. 2

8/
05

/8
5)

Ve
di

 c
ar

ta
 c

irc
ol

az
io

ne
de

ll‘
 a

ut
ov

ei
co

lo

34
8 

08
1

Su
ba

ru
 O

ut
ba

ck
 M

Y2
1-

B
7

C
LA

SS
 A

50
-X

E1
3*

55
R

01
/0

8*
47

17

10
,7

9
kN

90
 k

g

D
is

po
si

tiv
o 

di
 t

ra
in

o 
tip

o:

P
er

 a
ut

ov
ei

co
li:

T
ip

o 
fu

nz
io

na
le

:

C
la

ss
e 

e 
tip

o 
di

 a
tta

cc
o:

O
m

ol
og

az
io

ne
:

V
al

or
e 

D
:

C
ar

ic
o 

ve
rt

ic
al

e 
m

ax
. 

S
:

La
rg

he
zz

a
rim

or
ch

ia
bi

le
pe

r 
C

ar
av

an
 e

 T
.A

.T
.S

.:

M
as

sa
 r

im
or

ch
ia

bi
le

:

D
 =

 (
(T

 x
 C

) 
/ 

(T
+

 C
))

 x
 0

,0
09

8
1 

=
 …

 k
N

 <
 D

T
 =

 M
as

sa
 C

om
pl

es
si

va
 M

ax
. 

de
lla

 m
ot

ric
e 

(in
 k

g)
C

=
 M

as
sa

 R
im

or
ch

ia
bi

le
 M

ax
. 

de
lla

 m
ot

ric
e 

(in
 k

g)

D
A

 C
O

M
P

IL
A

R
E

 P
E

R
 IL

 C
O

LL
A

U
D

O

D
IC

H
IA

R
A

Z
IO

N
E

D
I C

O
R

R
E

T
T

O
 M

O
N

T
A

G
G

IO
: 

 la
 s

ot
to

sc
rit

ta
 D

itt
a 

di
ch

ia
ra

 d
i a

ve
r 

m
on

ta
to

 in
 m

an
ie

ra
 c

or
re

tta
 e

d 
in

 c
on

fo
rm

it
al

le
 p

re
sc

riz
io

ni
 s

ia
 d

el
 c

os
tr

ut
to

re
 d

el
 v

ei
co

lo
 c

he
 d

el
 c

on
st

ru
tto

re
 d

el
 d

is
po

si
tiv

o 
st

es
so

 il
 s

eg
ue

nt
e 

di
sp

os
iti

vo
 d

i a
tta

cc
o

m
ec

ca
ni

co
:

S
i d

ic
hi

ar
a 

in
ol

tr
e 

di
 a

ve
r 

in
fo

rm
at

o 
l‘u

te
nt

e 
de

l v
ei

co
lo

 s
ul

l'U
S

O
e 

M
A

N
U

T
E

N
Z

IO
N

E
 d

el
 d

is
po

si
tiv

o 
st

es
so

.

T
IM

B
R

O
 e

 F
IR

M
A

do
ve

:

...
...

...
..

..
...

..
..

..
..

..
..

..
...

..
..

..
..

..
..

..
...

..
..

..
..

..
..

...
..

..
..

..
..

..
..

...
.

...
...

...
..

..
.

Il 
di

sp
os

iti
vo

 d
i a

tta
cc

o 
so

pr
a

in
di

ca
to

 è
 s

ta
to

 in
st

al
la

to
 s

u 
au

to
ve

ic
ol

o

...
...

...
..

..
...

..
..

..
..

..
..

..
...

..
..

..
..

..
..

..
...

..
..

..
..

..
..

...
..

..
..

..
..

..
..

...
.

...
...

...
..

..
.

...
...

...
..

..
...

..
..

..
..

..
..

..
...

..
..

..
..

..
..

..
...

..
..

..
..

..
..

...
..

..
..

..
..

..
..

...
.

...
...

...
..

..
.

...
...

...
..

..
...

..
..

..
..

..
..

..
...

..
..

..
..

..
..

..
...

..
..

..
..

..
..

...
..

..
..

..
..

..
..

...
.

...
...

...
..

..
.

P
er

 v
er

ifi
ca

re
 l‘

id
on

ei
tà

 d
el

 d
is

po
si

tiv
o 

di
 tr

ai
no

 o
m

ol
og

at
o

a 
no

rm
a 

E
C

E
-R

55
,

al
l‘i

ns
ta

lla
zi

on
e 

su
lla

 v
et

tu
ra

 s
u 

cu
i s

i i
nt

en
de

 p
ro

ce
de

re
 a

l m
on

ta
gg

io
,

co
m

pi
la

re
 la

 s
eg

ue
nt

e 
fo

rm
ul

a 
(s

e 
ne

ce
ss

ar
io

 d
ec

la
ss

ar
e 

la
 m

as
sa

 
rim

or
ch

ia
bi

le
):

T
ip

o:

M
od

el
lo

:

T
ar

ga
:

D
at

a:

I




